Revision questions (40 marks; 40 minutes)

1. [image: ]Outline two possible reasons why a bank would want to see a company's statement of comprehensive income. (4)

2. 
a) Calculate the per cent increase in the annual net financing costs for John Lewis between 2008 and 2015. (3)

b) Explain one possible effect of this increase on the business. (4)

3. Outline two ways in which employees may benefit from looking at their employer's balance sheet. (6)

4. Distinguish between gross and operating profit (3)

5. Explain why even a charity such as Oxfam may want to make a profit. (4)

6. State two items that may be listed as current liabilities. (2)

7. Distinguish between non-current and current assets. (3)

8. Explain what may be included under the heading 'financing costs'. (4)
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Real business

Between 2008 and 2015, John Lewis Partnership
pursued growth objectives. Despite the diffcult economic
circumstances of the time, both divisions of the business (John
Lewis and Waltrose) opened new stores throughout the UK.
Financing this growth required huge extra borrowings, pushing
Tong-term debts over £2.5 billion in 2015. The result of the
extra debts was higher interest payments. Figure 19.2 shows.
the extraordinary growth in the net financing costs of John
Lewis from £14 million in 2008 to £100 million in 2015. And
allthis at a time of record low interest rates.
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Figure 19.2 The increasing cost of coping with debt at John
Lewis Partnership (source: JLP accounts)
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Revision activities

Data response ‘Questions (50 marks; 60 minutes)
Whitbread plc was once a brewery, but is now focused 1 a) Calculate Whitbread's cost of sales for
on three markets: coffee bars (Costa), budget hotels. both periods.

(Premier Inn) and restaurants (Beefeater Grill). Costa b) Calculate each figure as a percentage
has been a great success both in the UK and China. of the company's revenue for the
Table 19.8 shows Whitbread plc's statement of corresponding period.

comprehensive income summarised. Study the figures ¢) Comment on your findings.

and answer the questions.
2 2 &) Calculate the percentage

Year to Year to
increase Whitbread achieved
4
28/02/284) =21/02/201 in 2015 compared with 2014 in:
£m £m
i) revenue
Revenue (tunover) 2,608 2204 S ororetugtorart,
Cedidiern g L b) Assess the data to suggest why the
Gross profit 1,860 1472 increase in operating profit was greater
Operating expenses. (1.159) (1,080) than the increase in sales revenue.
Operating profit 501 392 3 Whitbread's two main operating divisions.
et Mianse (hosina @n @5) are Hotels and Re'sfbeurants (mainly Premier
Inn) and Costa Coffee. UK hotel profits
Fuoft before 2ation 464 347, rose by 15.2 per cent In 2015 and at Costa
Taxation (98) s (24) UK rose by 20.7 per cent. Evaluate how
Net profit for the year 366 323 Whitbread’s management might respond to

Table 18.8 Adapted from Whitoread plc group report and . R

accounts 2015
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